FREHRO_FRER T —FASHEF—L

No. [ F—LE HOARESE [ M3B]| h3k| M8 | hak| heB | h6k| heB | ek |h¥E| b [NESFHPSEH S8t
[E IEEZ:] alE D& 1 1 0 2 2
2 |JERRT—LDER B3 WX 1 0 1 1
3 |RFIEEFERNFER EF #HE 1 1 2 0 2
4 | TRSSAHEH Hith BHEX 1 1 0 1
5 [FEAPER FER I 2 1 0 3 3
6 [ROFIVRE—FR7—FDEM ok B 1 1 2 0 2
7 _|[RRE—FR7—FDEM #®HE s 3 1 1 1 1 1 7 1 8
8 [ICE SPEED BE AE 1 1 2 0 2
9 [ROFRAR—YDER T BE 1 1 0 1
10 [3=27—RX5—F257 Fit: 3PS 1 1 2 3 1 1 9 0 9
11 [R5 —FRAR—YDEM BB 25 1 2 1 1 2 2 5 4 9
12 [ RRT—bDEH iR I5th 3 2 1 2 8 0 8
13 [FJ=FT«¢ KL A 1 4 1 4 2 6 6 12
14 |HTHEARR—YDER OREFIRE) M XET 1 1 0 1
5 [ERZRS—FDEM ESF 3 1 2 1 2 1 9 1 10
6 _|TSC B 2R 2 2 0 2
7 | REhEE PEER 3 0 3 3
18 [RAIETST B R R mE BE 1 0 1 1
19 [hEFAE—FRT—MDEM WH AR 1 2 1 2 3 4 5 9
20 [BLIFSRE—FRT—F &M FAETES 1 1 1 1 1 1 2 8 0 3
SR Progress AR 8 1 3 4 1 7 8
TEAM_AXIS [ 1 1 1 1 2 2 1 9 0 9
BRIJSCRT—FEH HX B2H 1 0 1 1
24 |BHALALLORT—FDEH XH HE 1 4 1 3 3 1 1 13 1 14
25 |BESAPUTRE—FR7—rVER | Bl @ 3 2 2 1 2 2 1 7 4 13 11 24
26 |[MERT—FDEH IEH X8 2 2 0 2
27 NHEHER T —bRR—Y DR HAd T 1 1 1 2 1 3
8 [ENBRE—FRy—FEEDER IiE Kk 1 1 1 3 6 0 6
9 |KSSC Gl EH 2 1 1 4 0 4
0 [fLRRE—FRT—FDEH iR i 2 1 2 1 1 7 0 7
31 [RERT—RDEHR HiE BE— 1 1 2 0 2
32 [fLAAR PR £H 1 0 1 1
33 |MENBBEEFR AH HIE 1 1 0 1
4 [0SSC = 1 1 1 3 0 3
5 |BBRy—bOEHAAR BHH R— 1 1 4 1 2 6 3 9
6 |[Fit Labo RS 2 2 3 7 0 7
37 [JERATHILN B RFER FiR BEE 1 1 1 2 1 3
38 [EMR7—FDER \E BRF 1 2 3 0 3
39 [BTLARAR—VYDER (ER &) -1 2 1 1 2 0 2
40 [FARPER(BE ) BE B 1 0 1 1
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